Acta Mathematica Universitatis Ostraviensis

Zbigniew Walczak Bernstein-Durrmeyer type operators

Acta Mathematica Universitatis Ostraviensis, Vol. 12 (2004), No. 1, 65--72

Persistent URL: http://dml.cz/dmlcz/120606

Terms of use:

© University of Ostrava, 2004

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: The Czech Digital Mathematics Library http://project.dml.cz

Bernstein-Durrmeyer type operators

Zbigniew Walczak

Abstract. In this paper we introduce modified Bernstein-Durrmeyer operators and study approximation properties of these operators, including theorems on the degree of approximation.

1. Introduction

Let $C_{[0,1]}$ be the set of all real-valued functions f continuous on [0,1] with the norm

$$||f|| \equiv ||f(\cdot)|| := \sup_{x \in [0,1]} |f(x)|. \tag{1}$$

In 1912 Bernstein constructed, for any function $f \in C_{[0,1]}$, a sequence of polynomials

$$B_n(f;x) := \sum_{k=0}^n p_{n,k}(x) f\left(\frac{k}{n}\right), \qquad n \in \mathbb{N} := \{1, 2, \dots\},$$
 (2)

where

$$p_{n,k}(x) := \binom{n}{k} x^k (1-x)^{n-k}, \qquad 0 \le k \le n,$$
 (3)

 $x\in[0,1]$, and proved that $B_n(f)\rightrightarrows f$. These polynomials (2), called Bernstein polynomials, possess many remarkable properties. We present only two of them.

Theorem A. Let $f \in C_{[0,1]}$ and $B_n(f;\cdot)$ be the Bernstein polynomial for f. Then

$$||B_n(f;\cdot) - f(\cdot)|| \le \frac{3}{2}\omega\left(f;n^{-1/2}\right), \qquad n \in N,$$

where $\omega\left(f;\cdot\right)$ is the classical modulus of continuity.

Received: March 26, 2004.

²⁰⁰⁰ Mathematics Subject Classification: 41A36.

Key words and phruses: Bernstein-Durrmeyer operator, approximation theorem, Voronovskaya

Theorem B. Let $f \in C^2_{[0,1]}$ and $B_n(f;\cdot)$ be the Bernstein polynomial for f. Then for every $x \in [0,1]$ we have

$$\lim_{n\to\infty} n\{B_n(f;x) - f(x)\} = \frac{1}{2}x(1-x)f''(x).$$

Theorems A and B are classical results of Popoviciu and Voronovskaya [4, Ch. 10].

The Bernstein polynomials and their connections with different branches of analysis, such as convex and numerical analysis have been studied intensively. Basic facts on Bernstein operators, their generalizations and applications, can be found in, e.g., [7-11]. In [6] J.L. Durrmeyer introduced an interesting modification of the Bernstein polynomials defined by

$$M_n(f;x) := (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_0^1 p_{n,k}(t) f(t) dt, \tag{4}$$

for $f \in C_{[0,1]}$, where $n \in N$ and $p_{n,k}(\cdot)$ are defined by (3).

Approximation of continuous functions by Bernstein-Durrmeyer operator (defined by (4)), has been investigated by many authors. A careful analysis of such operators, was carried out for the first time by Derriennic in [3]. Subsequently, Ditzian and Ivanov [5] studied their rate of convergence in terms of the so-called Ditzian-Totik modulus of continuity.

- Derriennic proved in [3] that:
- (a) $M_n f$ is a positive operator,
- (b) $M_n(1;x) = 1$,
- (c) $\lim_{n\to\infty} ||M_n(f;\cdot) f(\cdot)|| = 0 \text{ for } f \in C_{[0,1]}.$

Let the set of all $f\in C_{[0,1]}$ with derivatives $f',\ldots,f^{(r)}$ belonging also to $C_{[0,1]}$ be denoted by $C^r_{[0,1]},\,r\in N_0:=\{0,1,2,\ldots\}$ $(C^0_{[0,1]}\equiv C_{[0,1]})$. The norm on $C^r_{[0,1]}$ is given by (1).

In this paper we introduce the following class of operators in $C^r_{[0,1]}$.

Definition. Fix $r \in N_0$. We define a class of operators $M_{n,r}$ by the formula

$$M_{n,r}(f;x) := (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{f^{(j)}(t)}{j!} (x-t)^{j} dt, \qquad x \in [0,1],$$
(5)

where $p_{n,k}(\cdot)$ are defined by (3).

Clearly,
$$M_{n,0}(f;x) = M_n(f;x)$$
 for $x \in [0,1], n \in \mathbb{N}$ and $f \in C_{[0,1]}$.

In this paper we shall study a relation between the rate of approximation by $M_{n,r}$ and the smoothness of the function f.

In the sequel we shall denote the suitable positive constants depending only on a by $K_m(a), m = 1, 2, \ldots$

2. Auxiliary results

In this section we shall give some properties of the above operators, which we shall apply to the proofs of the main theorems.

We may remark here that if $f(x)=x^q, \ x\in [0,1], \ q\in N_0,$ then by Taylor's formula it follows that

$$f(x) = \sum_{j=0}^{q} \frac{f^{(j)}(y)}{j!} (x - y)^{j},$$

for every fixed $y \in [0, 1]$. This fact and (5) yield

Lemma 1. Let $f(x) = x^q$, $x \in [0,1]$, $q \in N_0$. Then for every fixed $q \le r \in N_0$ we have

$$M_{n,r}(t^q;x) = x^q, \qquad n \in \mathbb{N}.$$

In view of [3] it is known that

$$M_n(1;x) = 1,$$
 $M_n(x-t;x) = -(1-2x)/(n+2),$ (6)

$$(n+q+2)M_n\left((x-t)^{q+1};x\right) =$$

$$= x(1-x)\left\{2qM_n\left((x-t)^{q-1};x\right) - M'_n\left((x-t)^q;x\right)\right\} +$$

$$-(1-2x)(q+1)M_n\left((x-t)^q;x\right),$$
(7)

for $x \in [0,1]$, $n \in N$ and $q \in N$.

Using mathematical induction on $q \in N$ and by (6) and (7), we can prove the following

Lemma 2 ([5], pages 83-84, Lemma 6.3) For every $q \in N$ we have

$$M_n\left((x-t)^{2q};x\right) = \sum_{j=0}^q a_{j,q,n}(x) \left(\frac{x(1-x)}{n}\right)^{q-j} n^{-2j}, \quad x \in [0,1], \quad n \in N,$$

where $a_{j,q,n}(x)$ are polynomials in x of fixed degree with coefficients bounded for all

Lemma 3. For every $q \in N$ there exists a positive constant $K_1(q)$ such that

$$||M_n((\cdot - t)^{2q}; \cdot)|| \le K_1(q)n^{-q}, \quad n \in N.$$

Proof. Applying Lemma 2, we get

$$|M_n((x-t)^{2q};x)| \le \sum_{j=0}^q |a_{j,q,n}(x)| \left(\frac{x(1-x)}{n}\right)^{q-j} n^{-2j}.$$

By Lemma 1 and by elementary calculations we immediately obtain

$$|M_n((x-t)^{2q};x)| \le \sum_{j=0}^q K_2(q)4^{j-q}n^{-j-q} \le K_1(q)n^{-q}.$$

Lemma 4. Fix $r \in N_0$. Then

$$||M_{n,r}(f;\cdot)|| \le \sum_{i=0}^{r} \frac{||f^{(j)}||}{j!},$$
 (8)

for all $f \in C^r_{[0,1]}$ and $n \in N$.

Proof. If r = 0, then, by (5) and (1), we have

$$|M_{n,0}(f;x)| \leq \|f\|(n+1)\sum_{k=0}^n p_{n,k}(x)\int_0^1 p_{n,k}(t)dt = \|f\|, \qquad \text{for } x \in [0,1], n \in N.$$

If $r \geq 1$, then, by (1), (3)-(6), we immediately get

$$|M_{n,r}(f;x)| \le \sum_{j=0}^{r} \frac{1}{j!} M_n \left(|f^{(j)}(t)(x-t)^j|; x \right) \le$$

$$\leq \sum_{j=0}^{r} \frac{1}{j!} \|f^{(j)}\| M_n \left(|x-t|^j; x \right).$$

Since $|x-t| \le 1$ for $x,t \in [0,1]$, it follows that $M_n\left(|x-t|^j;x\right) \le 1$ for $x,t \in [0,1]$. From this we obtain

$$|M_{n,r}(f;x)| \le \sum_{j=0}^{r} \frac{\|f^{(j)}\|}{j!}, \qquad x \in [0,1], n \in N.$$

This completes the proof of (8).

3. Rate of convergence

In this part we shall state some estimates of the rate of convergence of the operators $M_{n,r}$. We shall use the classical modulus of continuity defined by

$$\omega(f;t) := \sup_{|x-y| \le t, \ x,y \in [0,1]} |f(x) - f(y)|, \qquad t \ge 0. \tag{9}$$

The methods used to prove Lemma 4 and the Theorems are similar to those used in construction of modified Bernstein polynomials [2, 8, 11].

Theorem 1. Fix $r \in N_0$. Then there exists a positive constant $K_3(r)$ such that

$$||M_{n,r}(f;\cdot) - f(\cdot)|| \le K_3(r)n^{-r/2}\omega\left(f^{(r)};n^{-1/2}\right)$$
(10)

for every $f \in C^r_{[0,1]}$ and $n \in N$.

Proof. For r=0 the result is well-known (see, for example, [4, Ch. 10, Theorem 8.21).

8.2]). Let $f\in C^r_{[0,1]}$ with $r\geq 1$ and let $t\in [0,1]$ be a fixed point. We apply the following modified Taylor's formula

$$f(x) = \sum_{j=0}^{r} \frac{f^{(j)}(t)}{j!} (x - t)^{j} +$$

$$+\frac{\left(x-t\right)^{r}}{\left(r-1\right)!}\int_{0}^{1}(1-u)^{r-1}\left\{ f^{\left(r\right)}\left(t+u\left(x-t\right)\right)-f^{\left(r\right)}\left(t\right)\right\} du,\qquad x\in\left[0,1\right]$$

From this we derive the following equality from (5) and (6):

$$f(x) = (n+1) \sum_{k=0}^{n} \left(p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) f(x) dt \right) = M_{n,r} \left(f(t); x \right)$$
 (11)

$$+(n+1)\sum_{k=0}^{n}p_{n,k}(x)\cdot$$

$$\cdot \int_{0}^{1} p_{n,k}(t) \left\{ \frac{(x-t)^{r}}{(r-1)!} \int_{0}^{1} (1-u)^{r-1} \left\{ f^{(r)} \left(t+u \left(x-t\right)\right) - f^{(r)} \left(t\right) \right\} du \right\} dt,$$

for $x \in [0,1]$ and $n \in N$. Applying (9) and the inequality $\omega(g;\lambda t) \leq (1+\lambda)\omega(g;t)$ for $g \in C_{[0,1]}$ and $\lambda, t \in [0,1]$, we get

$$|f^{(r)}(t+u(x-t))-f^{(r)}(t)| \leq \omega\left(f^{(r)};u|x-t|\right) \leq$$

$$\leq \omega\left(f^{(r)}; |x-t|\right) \leq \omega\left(f^{(r)}; n^{-1/2}\right)\left(1 + n^{1/2}|x-t|\right)$$

for $0 \le u, x \le 1$ and $n \in \mathbb{N}$. This inequality and (11) and (4) imply that

$$|f(x) - M_{n,r}\left(f(t); x\right)| \le \tag{12}$$

$$\leq \omega \left(f^{(r)}; n^{-1/2} \right) (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \frac{|x-t|^{r}}{r!} \left(1 + n^{1/2} \left| x - t \right| \right) dt =$$

$$=\omega\left(f^{(r)};n^{-1/2}\right)\frac{1}{r!}\left\{M_{n}\left(|x-t|^{r};x\right)+n^{1/2}M_{n}\left(|x-t|^{r+1};x\right)\right\}$$

for all $x \in [0,1]$ and $n \in \mathbb{N}$. Further, by Hölder inequality and Lemma 3 and (6), we have

$$M_n(|x-t|^q;x) \le (M_n(1;x)M_n((x-t)^{2q};x))^{1/2} =$$
 (13)

$$= \left(M_n \left((x-t)^{2q}; x \right) \right)^{1/2} \leq \left(\frac{K_1(q)}{n^q} \right)^{1/2}, \qquad x \in [0,1], \ n, q \in N.$$

Collecting (13) and (12) we obtain

$$|M_{n,r}(f;x) - f(x)| \le K_3(r)n^{-r/2}\omega\left(f^{(r)};n^{-1/2}\right),$$

for $x \in [0,1]$ and $n \in \mathbb{N}$. This completes the proof of (10).

From Theorem 1 we derive the following

Corollary. If $f \in C^r_{[0,1]}$, $r \in N_0$, and $f^{(r)} \in Lip\alpha$ with $0 < \alpha \le 1$, i.e. $\omega\left(f^{(r)};t\right) = O(t^\alpha)$ for t > 0, then

$$\|M_{n,r}\left(f;\cdot\right)-f(\cdot)\|=O(n^{-(r+\alpha)/2}), \qquad n\in N.$$

Now we shall give the Voronovskaya type theorem.

Theorem 2. Suppose that $f \in C^{r+2}_{[0,1]}$ with a fixed $r \in N_0$. Then for every $x \in [0,1]$ we have

$$M_{n,r}(f;x) - f(x) = \frac{(-1)^r f^{(r+1)}(x) M_n \left((t-x)^{r+1}; x \right)}{(r+1)!} + \frac{(-1)^r (r+1) f^{(r+2)}(x) M_n \left((t-x)^{r+2}; x \right)}{(r+2)!} + o_x \left(\frac{1}{n^{1+r/2}} \right)$$
(14)

Proof. The assertion (14) for the Bernstein-Durrmeyer operators $M_{n,0}(f)$ and $f \in C^2_{[0,1]}$ is given in [3].

Fix $r \in N$ and $x \in [0,1]$. If $f \in C^{r+2}_{[0,1]}$, then $f^{(j)} \in C^{r+2-j}_{[0,1]}$, $0 \le j \le r$. Hence, for every $f^{(j)}$ we can write Taylor's formula:

$$f^{(j)}(t) \approx \sum_{i=0}^{r+2-j} \frac{f^{(j+i)}(x)}{i!} (t-x)^i + \varphi_j(t;x) (t-x)^{r+2-j}, \qquad 0 \le j \le r, \quad (15)$$

for $t\in[0,1]$, where $\varphi_j(t)\equiv\varphi_j(t;x)$ is a function such that $\varphi_j(t)t^{r+2-j}$ belongs to $C_{[0,1]}^{r+2-j}$ and $\lim_{t\to x}\varphi_j(t)=0$. From this we get

$$\begin{split} M_{n,r}(f;x) &= (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{(x-t)^{j}}{j!} \sum_{i=0}^{r+2-j} \frac{f^{(j+i)}(x)}{i!} (t-x)^{i} dt + \\ &+ (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{(x-t)^{j}}{j!} \varphi_{j}\left(t;x\right) (t-x)^{r+2-j} dt : \\ &:= A_{n,r}(x) + B_{n,r}(x), \quad n \in N. \end{split}$$

We may observe that

$$\begin{split} &A_{n,r}(x) = \\ &= (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{(x-t)^{j}}{j!} \sum_{l=j}^{r+2} \frac{f^{(l)}\left(x\right)}{(l-j)!} (t-x)^{l-j} dt = \\ &= (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{(-1)^{j}}{j!} \sum_{l=j}^{r+2} \frac{f^{(l)}\left(x\right)}{(l-j)!} (t-x)^{l} dt = \\ &= (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{j=0}^{r} \frac{(-1)^{j}}{j!} \left\{ \sum_{l=j}^{r} \frac{f^{(l)}\left(x\right)}{(l-j)!} (t-x)^{l} + \right. \\ &+ \left. \frac{f^{(r+1)}\left(x\right)}{(r+1-j)!} (t-x)^{r+1} + \frac{f^{(r+2)}\left(x\right)}{(r+2-j)!} (t-x)^{r+2} \right\} dt = \\ &= (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) \sum_{l=0}^{r} \frac{f^{(l)}\left(x\right)}{l!} (t-x)^{l} \int_{j=0}^{l} \frac{l}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{r} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} p_{n,k}(x) \int_{0}^{1} p_{n,k}(t) (t-x)^{r+1} \sum_{j=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} \binom{r+1}{j} (-1)^{j} dt + \\ &+ \frac{f^{(r+1)}\left(x\right)}{(r+1)!} (n+1) \sum_{k=0}^{n} \binom{r+1}{j} (-1)$$

$$\begin{split} &+\frac{f^{(r+2)}\left(x\right)}{(r+2)!}(n+1)\sum_{k=0}^{n}p_{n,k}(x)\int_{0}^{1}p_{n,k}(t)\left(t-x\right)^{r+2}\sum_{j=0}^{r}\binom{r+2}{j}\left(-1\right)^{j}dt = \\ &= f(x) + (n+1)\sum_{k=0}^{n}p_{n,k}(x)\int_{0}^{1}p_{n,k}(t)\sum_{l=1}^{r}\frac{f^{(l)}\left(x\right)}{l!}\left(t-x\right)^{l}\sum_{j=0}^{l}\binom{l}{j}\left(-1\right)^{j}dt + \\ &+\frac{f^{(r+1)}\left(x\right)}{(r+1)!}(n+1)\sum_{k=0}^{n}p_{n,k}(x)\int_{0}^{1}p_{n,k}(t)\left(t-x\right)^{r+1}\sum_{j=0}^{r}\binom{r+1}{j}\left(-1\right)^{j}dt + \\ &+\frac{f^{(r+2)}\left(x\right)}{(r+2)!}(n+1)\sum_{k=0}^{n}p_{n,k}(x)\int_{0}^{1}p_{n,k}(t)\left(t-x\right)^{r+2}\sum_{j=0}^{r}\binom{r+2}{j}\left(-1\right)^{j}dt \end{split}$$

for $n \in \mathbb{N}$. Using the equalities

$$\sum_{j=0}^{r} {r \choose j} (-1)^j = 0, \qquad r \in N,$$

$$\sum_{j=0}^{r} {r+1 \choose j} (-1)^j = (-1)^r,$$

$$\sum_{j=0}^{r} {r+2 \choose j} (-1)^j = (r+1)(-1)^r$$

and (3), (4) we deduce that

$$A_{n,r}(x) = f(x) + \frac{(-1)^r f^{(r+1)}(x) M_n \left((t-x)^{r+1}; x \right)}{(r+1)!} + \frac{(-1)^r (r+1) f^{(r+2)}(x) M_n \left((t-x)^{r+2}; x \right)}{(r+2)!}, \quad n \in \mathbb{N}.$$
(17)

Observe that

$$B_{n,r}(x) =$$

$$(n+1)\sum_{k=0}^{n}p_{n,k}(x)\int_{0}^{1}p_{n,k}(t)\left(t-x\right)^{r+2}\Phi_{r}\left(t;x\right)dt=M_{n}\left(\left(t-x\right)^{r+2}\Phi_{r}\left(t\right);x\right),$$

for $n \in N$, where

$$\Phi_r(t) \equiv \Phi_r(t;x) := \sum_{j=0}^r \frac{(-1)^j}{j!} \varphi_j(t;x), \qquad t \in [0,1],$$

and Φ_r is a function belonging to $C_{[0,1]}$ and $\lim_{t\to x}\Phi_r(t)=\Phi_r(x)=0$. By the Hölder inequality and by Lemma 3, we get

$$\begin{split} |B_{n,r}(x)| & \leq \left(M_n \left(\Phi_r^2(t);x\right)\right)^{1/2} \left(M_n \left((t-x)^{2r+4};x\right)\right)^{1/2} \leq \\ & \leq \left(\frac{K_1(q)}{n^{r+2}}\right)^{1/2} \left(M_n \left(\Phi_r^2(t);x\right)\right)^{1/2}, \qquad n \in N. \end{split}$$

Since $\Phi_r^2 \in C_{[0,1]}$, we have by statement (c)

$$\lim_{n\to\infty} M_n\left(\Phi_r^2(t);x\right) = \Phi_r^2(x) = 0.$$

From the above we deduce that

$$B_{n,r}(x) = o_x\left(\frac{1}{n^{1+r/2}}\right), \quad \text{as } n \to \infty.$$
 (18)

Collecting (16), (17) and (18) we obtain (14).

Theorem 1 and Theorem 2 in our paper show that the operators $M_{n,r}, n \in \mathbb{N}$, give better degree of approximation of functions $f \in C^r_{[0,1]}$ than B_n .

Acknowledgment. The author would like to thank the referee for his valuable comments.

References

- S. N. Bernstein, Démonstration du théorème de Weierstrass fondée sur la calcul des proba-bilités. Comm. Soc. Math. Charkow Sér. 2 13(1912), 1-2.
- [2] S. N. Bernstein, Complément à l'article de E. Voronowskaja, Dokl. Akad. Nauk USSR 4 (1932), 86-92.
- [3] M. M. Derriennic, Sur l'approximation de fonctions intégrable sur [0,1] par des polynomes de Bernstein modifiés, J. Approx. Theory 31 (1981), 325-343.

 [4] R. A. De Vore, G. G. Lorentz, Constructive Approximation, Springer-Verlag, Berlin, 1993.
- [5] Z. Ditzian, K. G. Ivanov, Bernstein-type operators and their derivatives, J. Approx. Theory, 56(1989), 72-90.
- [6] J. L. Durrmeyer, Une formule d'inversion de la transformée de Laplace: Applications à la théorie des moments, Thèse de 3e cycle, Faculté des Sciences de l'Université de Paris, 1967.
- $\begin{tabular}{l} [7] A. Il'inskii, S. Ostrovska, Convergence of generalized Bernstein polynomials, J. Approx. The-linear convergence of generalized Bernstein polynomials, and the supplication of the polynomial convergence of generalized Bernstein polynomials. The supplication of the polynomial convergence of generalized Bernstein polynomials and the supplication of the polynomial convergence of generalized Bernstein polynomials. The supplication of the polynomial convergence of the polynom$ ory 116(2002), 100-112.
 [8] G. H. Kirov, A generalization of the Bernstein polynomials, Math. Balkanica 6(2)(1992),
- 147-153.
- [9] G. G. Lorentz, Bernstein Polynomials, Chelsea, New York, 1986.
 [10] V. Videnskii, Bernstein Polynomials, Leningrad State Pedagogical University, Leningrad, 1990. [in Russian]
- [11] V. Videnskii, New Topics Concerning Approximation by Positive Linear Operators, in: Open Problems in Approximation Theory, 1993, Bulgaria, pp. 205-212. Editor Borislav Bojanov.

Author(s) Address(es):

INSTITUTE OF MATHEMATICS, POZNAŃ UNIVERSITY OF TECHNOLOGY, PIOTROWO 3A, 60-965 Poznań, Poland

E-mail address: zwalczak@math.put.poznan.pl